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WARM UP GRADE 8
Mar. __, 2017 THINKING...

(PLEASE BE PATIENT)
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The population of fish in a local pond were 125 000 in May 2000.
The population decreased by 43% due to a nearby oil leak. What is
the new population?
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http://www.taxtips.ca/provincial sales tax.htm

g Sales Tax and Total Cost

Sales tax is money that you pay to the government on almost everything
that you buy. In NB, we pay harmonized sales tax(HST) which is 15 %

Provincial Sales tax rate

BC 7% PST + GST
AB 0% PST + GST
SK 5% PST + GST
MN 7% PST + GST
ON 8% PST + GST
PQ 7.5% ** + GST*
NL 15% HST

NB 15% HST

NS 15% HST

PE 15% HST

We pay sales tax on the price of the item, so to calculate the amount of
sales tax, we take 15% of the price. GST is 5%.

Example; A sweater sells for $45.
(a) find the amount of tax you have tgay.
(b) find the total cost of the sweater.
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(b) Total cost


http://www.taxtips.ca/provincial_sales_tax.htm
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2. Find the amount of tax and total cost of a book that cost $15.
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3. Find the total cost of a stereo that sells for $229.99.
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Homework pg. 260 #4-9
(Use 15% HST for all questions)
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